
Panel bed-K

MADE IN CHINA 



1/20



2/20

1

1

1

1

2

2

2

2

3

3

4

5

5

6

7

8
9

9

10

11

12

13

14

15

16

17

18

19

2021

21

22

23

24

25

26

26

L

L

L

L

7

9

9
24



4PCS

1PC 2PCS

4PCS

1PC 1PC 1PC

1PC

3/20

4PCS 2PCS

1PC

1PC 1PC

1PC 1PC 1PC

1PC

2PCS 1PC

1PC 2PCS

PARTS LIST



4/20

1PC1PC

14PCS 4PCS

4PCS 1PC

     PARTS LIST 
Nut Nut

2PCS

2PCS

1PC



5/20

50PCS

35PCS 16PCS

14PCS 7PCS

2PCS

 M8x12
Color Zinc

M8x33    M8x50

M8x16

PARTS LIST

  M8x20
 Color Zinc

1PC
M8



6/20

1

2

A

Note：The bottom are aligned.

A

M8x12(Color Zinc)
5pcsA

M8x12(Color Zinc)
5pcsA

Do not completely
 tighten screw A.

80%

Long

Short



7/20

3

4

Nut

Nut

B

M8x16
2pcsB

Nut

Nut

D 4 pcs
M8x33

D



8/20

5

6

M8x16
2pcsB

D M8x33
1pc

B

D

M8x12(Color Zinc)
2pcsA

M8x20(Color Zinc)
3pcsC

C

A



A

A

9/20

7

8

A

A

A

A

M8x12(Color Zinc)
2pcsA

M8x12(Color Zinc)
2pcsA

Long

Short
Long

Short

Long

Short
Long

Short



10/20

9

10

M8x12(Color Zinc)
4pcsA

A

A

M8x50
6pcsE

E Tighten all the screws.
100%



11/20

11

12

M8x12(Color Zinc)
5pcsA

A

M8x12(Color Zinc)
5pcsA

A

Long

Short

Note：The bottom 
are aligned.



12/20

13

14

2pcsF φ6x40

F

Nut

Nut

Nut

M8x16
2pcsB

B

Nut
Do not completely
 tighten screw B.

80%



13/20

15

16

D 4 pcs
M8x33

D
D

M8x50
8pcsE

E
E

E
E

Tighten all the screws.
100%

Note the assembly direction of parts 22/23!



14/20

17

18

D 16pcs
M8x33

D4X

M8x12(Color Zinc)
16pcsA

2X A
A A

A

A
A



15/20

19

20

M8x20(Color Zinc)
4pcsC

C
C C

C

Install screws loosely, 
don't fully tighten

Tighten screws C.

            WARNING! 
Moving parts can crush or cut. 
Keep fingers,hands,and feet away to avoid injury.

2X



16/20

21

22

D 4 pcs
M8x33

D

M8x16
4pcsB

B

B

2X



17/20

23

24

D 2 pcs
M8x33

M8x50
2pcsE

Install screws loosely, 
don't fully tighten

Tighten screws D.

D
D

D 4 pcs
M8x33

M8x16
4pcsB

D

E



18/20

25

26

2X



19/20

27

28

A

A

M8x12(Color Zinc)
4pcsA

Connect cables from the lights on 
headboard with one power cable.



20/20

29

Installation Complete

100%·Make sure the assembly holes are aligned.
·TIGHTEN ALL THE SCREWS COMPLETELY.

Turn off the light 

Turn on the light


